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No. of Questions/weat @ J&aT : 100
No. of Pages for Questions/sel & g 9 W : 23

Time .-2% Hours ] [ Eull Marks : 300
w57 121w ] [ guife : 300

Note : (1) This question booklet contains 100 (hundred) questions in all

@)

(30 in Section — A and 70 in Section - B). Attempt as many questions as
you can. Each question carries 3 marks. One mark will be deducted for each
incorrect answer. Zero mark will be awarded for each unattempted

question.

T UE-gRIST A T 100 () wA E (@8 - A N 30 3 @Wow — T F 70)|
IS G B &7 T B WIS TR | TAS U 3 P B &) FOF TolT
IR P [T v 3@ Frer R TRE FIARA W BT WIS I B

If more than one alternative answers seem to be approximate to the correct

answer, choose the closest one.

i v Jefous ST W) SR @ fAee wdia & ar Recaw I8 IR ¢

P.T.0.
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1.

SECTION-A
|que -~

All the following are acceptable goals for dealing with behaviour problems in
the classroom, except :

(1} helping the child to improve his/her self-control
{2) punishing, when necessary, in private
(3) understanding the offense

(4) utilizing appeals to children that have personal implications

PRI ST TR & o™ & Fg gevg & e

{1) B BT o IR oY guRT § |EI o

(2) IBA | TN JEEES B A, FoW <A

(3) IR FHY AN

(4) 39 WAt & JUAT FH ed) vrE B o suaiiar |

A parent of a student refuses to give permission for her child to go on an
educational excursion. The teacher should first :

(1) refer the matter to the Principal

(2) confer with the parent to discuss the educational purpose of the trip

(3) give the class a homework assignment for all parents to sign, giving
reasons why each child wants to go on the trip

(4) ask another teacher in the same class to take that child on the day of the
trip

@ BT &7 APNEE 9 ¥ 9 Fulie ¥aT oY WM 8 A9 B SAaT 2| SRAS

H gaY UEN -

(1) =¥ fwg &) wrEEd & o A 2wy
(2) mﬁw%ww%ﬁmmwﬁaﬂwmaﬁﬁ

(3) WAH BT WU R AT A AR 8 T A9 9 @ wE D TP Te Ry
ST AR G 9 W ARHED BT ERRR I B W D (o) Fe ARy

(4) =@ w1 B B FN YIS B B B YT R F o D o FEW WY

(2)
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3. To become a good teacher, which one of the following may not be treated as
very much essential ?

(1) Knowledge of ICT

(2) Knowledge of Subject

(3) Knowledge of Planning

(4) Knowledge of individual difference

UF HWT IS T B fog F1 # § fraeh stavaaar aga a0 787 8 ?
(1) omg & & @1 5

(2) fasg &1 =

@) Praem 1 9

4 ¥ofas = &1 I=

4, The most appropriate behaviour of a teacher with an overactive child should
be:
(1) Give the child extra written work so he/she will have a reason for
remaining in his/her seat
{2) Allow the child to leave his/her seat whenever he/she becomes restless

(3) Provide the child with purposeful activities that legitimize the need for
movement

{4) Isolate the child from the class
o ATafFd T2 B TR FAYD P FIY SUYTT AISR BT AR
(1) g:ﬁmmwmm%wmamw%mww

(2) 921 & IO Wie W9 97 R B A1 B o @ IrEly A ARy
3) m£@m@mwwm%wmﬁmm
G |

(4) I=0 B T J FET <A1 ARy

5. Subhas tells his teacher that three other boys, who the teacher knows are
Subhas's friends, copy from each other on all the tests. Of the following the
teacher is best advised to first :

(1) give the three boys a zero on the last two tests
(2) confter with Subhas's father

(3) try to understand why Subhas said this

(4) ignore the remark

(3) P.T.O.
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AT a9 orame § ey o & B 89 o v, R seie arm & B
9y 3 i & A Wl oden ¥ v g A wa B F ) 39 oRRefy F P 3 @
TIY GBS I B BT YAIT FF D & ofRd ?

(1) & qeal B o ol & WY

2) Y B far ot X g B TR

(3) T® WHI & yU HEW WD B gAY A Yur w0 FE
(4) BT F I B WA

6. Most important quality of a teacher is :

(1) Honesty (2) Diligent (3} Dutiful {(4) Punctual
TS FAIS BT TIY Agagy Yo B
(1) FTRr (2) aRsefr (3) FofTSa (4) Tafhaar
7.  When the students failed, it can be regarded as:
(1) The system failure " (2) The teacher's failure
(3) The text-book's failure (4) The individual student's failure
BTl B APt B W, ¥E A W Haar @ &
(1) =aaeyr argefol & it (2) e of it B MW
(3) TR St & wh @) BT aat @
8. Ifyouare unable to get admission in B. Ed., then you will :
(1) start giving tuition at home (2} remain at home till you get a job
(3) take some another job (4) continue applying for admission
Mg AfX fo Teo N AW T WW &, A 3w FAT FRA ALY ?
(1) R R TEE T (2) THT I TF W W &
(3) B T W T @) Ww & R IR smeT H
9. Open schooling programme is basically related with which one of the
following ?

(1) Off campus educational programme
(2) Formal educational programme
(3} Vocational education based programme

(4) Functional literacy programme
(4)
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T faenerdrn siwa fawd § A 3 s e vt 8 ?

1) R uRER it Freima

(2) sigaRe dftvs Fdww

(3) wraE e smaRa wrdes

(¢) @gele ARRaT BEHy

Through teachers education programme, basically one can learn skills related
with :

(1) School {2) Learning

(3) Interactive Behaviour (4) Classroom Behaviour of teachers

mmmﬁwﬁﬁwmmméwwﬁm

(1) faorem | @) A

(3) safraee aTEr 4@ (4) Rers o5& & FTER 9
Psychologist : Neurosis : @ ..o foveccnvesisnnnnne

(1) Ophthalmologist : Cataract ~ (2) Dermatologist : Fracture

(3) Infant : Pediatrician _ (4) Rash : Orthopedist

LRI ECE S 1 L) SR l

(1) 2 ffecs : Afvafes (2) = R - aif¥er o

(3) forg : Rrg ¥ RAdww (4) T A faRws
Sherlock Holmes : Sir Arthur Conan Doyle : : Robinson Crusoe : .........cccouuiinee
{1) H.G. Welis (2) Shakespeare

(3) Daniel Defoe (4) Charles Dickens

INATS B : TR AR B SIASF : ¢ AT T ¢ oo

(1) Yo ©ito e (2) TR

(3) Sf=a e (4) =ew fed=~

Darkness is to Africa as Sunrise is to :

(1) Japan (2) Dawn (3) East (4) Srinagar

T PR el & R R 39 & piem 2
(1) s @ R (2) R @ B (3) " & frg (1) TR 3 g

(5) P.T.O.
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14.

15.

16.

17.

18.

19.

49:125::?.:1

(1) 7 (2) 3 (3) 25 4y 9
Drum is to beat as Piano is to :

(1) Play _ (2) Sing

(3) Strike (4) Kick

39 e » fol & A R -

(1) oo & foy & (2) ™ % forr B

(3) TFpx B fordl & (4) ofax & ford 2

Rahul put his timepicce on the table in such a way that at 6 P. M. hour ha-d
points to North. In which direction the minute hand will point at 9.15 P. M. ?

(1) South-East - (2) South {3) North (4) West

AR AT T B YA W TH TBR W @Al & ¥ ww 6 99 5 Al g ==
R @ avw 21 9.15 991 39 # fime @l g3 Rvw R o) ok @l 2

(1) sfregRe (2) = - (3) S (4) ufay

In this series of numbers, write the next one :

feg v I A o srTell Wi fafke .

8, 14,10, 20, 26, 22 ..........

(1) 28 (2} 18 (3) 44 (4) 42

Age of A is double than B but age of C is one year less than B but two Teurs
mare than D. Who is the youngest in age among them ?

(1) A 2B @ C (4) D

R T RN IGIV AT I N IgaIA @ AT AR IR TET =7
s 8 aF o A |ad B A 9l B § 7

(1) & (2) 9 (3) & 4) <
Which animal among the following is different from the others ?

(1) Horse (2) Donkey (3) Camel (4) Goat
et 3 @ @-ar wraR g A e g 7

(1) =Sy (2) (3) @e (4) s

(6)
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If A can complete any work in 7 hours and B can complete one-third of the
same work in 4 hours whereas C can complete half of that work in 3 hours and
D can complete double of that work in 8 hours, then who is the slowest in
completing the work ?

1 A (2) B (3) C @ D

R T PR em B 7 6§ qu R 8 R T 99 T D & e 9w w4 e
¥ o0 PR S 8 TAF 999G R FTH P 3 " H I} Ahal B AR T W W
® g BHH P § S H B WHAT B, A I N IH I P G HA A WaEd
ARE Y B AT § ?

(1) o (2 3 @) § 4) <

National Literacy Mission was established in :

Yo fore™ e & e g8 o

(1) 1988 & (2) 1998 # (3) 1999 # (4) 2000 #
Who is known as the 'Father of computer'?

(1) B. Pascal (2) H. Hollerith

(3) Charies Babbage - (4) J. V.Newmann

FIOEY Bl TEH BT AT 7

(1) o IR (2) TEo FraRY

(3) T ;AT (@) o dlo =T

NIVH is concerned with the ;

(1) Special education {2) General Education

(3) Physical Education (4) Technical Education

T oM | T8 TGN D

(1) faftre Rer | (2) g fem |

(3) RR® RBew J (4) TEH e |

What is PPP in Education ?

(1) Public-Private Partnership (2) Private-Public Partnership
(3) People-Public Partnership (4) Participatory-Public Policy
RerdAd i e ?

(1) Re@-yrgde ERRT (2) Frsde-afere TR

(3) dud-ufedd UIERRY (4) niRyved-ufeds dferi

(7} P.T.O.
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25.

26.

27.

28.

29.

30.

Inclusion in education is an approach to educating students with :

(1) normal educational needs (2) poor special educational needs
(3) rural educational needs (4) special educational needs |
e A e 89 a= B At $ F1 te Surm § e

(1) T d0F Famsa]d § (2) wxE Mire smweay &

(3) urhv Mt smavadHan € @) ffre M snavasad &
Principle of multimedia approach is basically related with :

(1) National Literacy Mission (2) Distance Education

(3) Education for All Scheme (4) Work Experience Scheme

Ig wrAH 9unT (et TR ame) @ g e @ weEfea @ -

(1) Ty R By Q (2) T R &

(3) e farg fen Iomr |/ @) o g AT A

In which year the first Open University was established in India ?

IRA # vod o favafdere & wnww fEe w9 § @ 7

(1) 1983 (2) 1981 (3) 1980 (4) 1988
Vocational education combines productive labour with education and athletics

on the basis of the idea of whom ?
(1) Karl Marx {2) Lenin
(3) Mahatma Gandhi (4) Bertrand Russel]

araafds Ren # gares 59§ R Ak dorge 3 9 S &) Zaen B
R @ R w A TE 7

(1) St arRd () afF
(3) wgre TRl (4) T WA

Right to Education Bill is associated with which year ?

e @ JfeR @ wadg sffmr A R T 8 2
(1) 2005 (2) 2004 (3) 2003 (4) 2001

In the concurrent list of the Indian Constitution, how many subjects are there
now ? ' '

AR SRum &) waed gt ¥ dum A e Ryg wiwfea 27
(1) 47 (2) 57 3) 37 @) 27

(8)
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SECTION - B
UG -

The product of the dimension of moment of inertia and that of frequency is the
dimension of : '

(1) momentum (2 force

(3) Planck's constant (4) Stefan's constant

T Tt Ud WY A R @ qerme Frefeie @ e e @
(1) gam (2) I

(3) e @1 Fraars (@) OB @1 e

If R is the earth's radius, at what height above its surface the total energy of a
satellite will equal the satellite's potential energy at a height of 2R from the
surface :

IR gedy 2 B R 2, Y 390 wow § el U W e Sun @ od el
HE ¥ 2R M FI8 W ITUE o Ruforw ot @ awew @l

R R : '
(1) 1 2) > (3) 2R 4) 4R

If the noise level at the centre of a town is 60 dB and-that in its outer region is
10 dB then the intensity of sound at the centre is more by a factor of :

IR e B Mg F AR P 71 60 dB TN U P &Y /T H Y€ W= 10 dB B,
o R @ W § At & draar FPeafafaa T afte @

1) 6 (2) 100 (3) 10° 4) 10°

The radiation emitted by a black body is in the form of :
(1) monochromatic light
(2) visible light
(3) invisible light
(4) both visible and invisible light
FirEr gR1 Seafia Rfdve B yor o 8 2
(1) Tmavii
) 37 v
(3) ¥ged v
(4) 398 T& g v I A
(9) P.T.O.
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35.

36.

37.

38.

A solid metal ball of weight w weighs w; when completely immersed in a
liquid and w, when completely immersed in water. The relative density of
liquid is : '
wmaﬁmalga%aﬁ\qfhﬁaﬁtﬂwﬁwﬁﬁgaﬁwwmwlw
ol WY R/ Ol AN W SHET R w, 8 S ¥ 59 &7 Anfdes v §

(1) w—uy w-w @ =% @ L%

-y w—un w—wsy w—wy

A source of sound of frequency 1000 is immersed in water. The velocities of
sound in air and water are 300 m/sec and 1500 m/sec respectively. The
frequency recorded by an observer stationed in air would be :

1000 smaRy @l U@ eaf & B @ 91 A GEIET AT &) w41 RO U H At @
37 HAT 300 N/QAPvS g 1500 D/AFvs £ gar F e YaF g IR

smafer e -

(1) 500 (2) 1000 (3) 1200 (4) 800

Two identical glass lenses of focal length ' f' are kept in contact with the space
between them filled with water. Assuming the refractive indices of glass and

water to be 1.5 and -:— respectively the focal length of the combination would
be: |

'f Pred g8 aa IR B T THEY oY UH-gR ¥ AR W T ¥ qur oe 4
< areh e ot o R ar §1 AR A cor o S i w15 T S

g, O 3 e & wea o @

W L @ 2 o f @ Y

The propagation of light in an optical fiber is based on the phenomenon of :
(1) reflection (2) refraction

(3) total internal reflection (4) total external reflection
afcare Bz ¥ g1y oo fr=fafes wear w® ek @n 2

(1) Wy 2) =

(3) ot s=aR® Wrad (4) o @ wrad+

(10)
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A voltmeter is made from a galvanometer by connecting withita:

(1) low resistance in parallel (2) low resistance in series
(3) high resistance in parallel (4) high resistance in series
erer § dieeiiey I @ fon 3w e B) R, U |
(1) o gf TieR % A (2) 3w iR Soff W A
(3) S=u vl w iR w9 A (4) = ARy ofy @ 3

An electron is released from rest in a region of steady and uniform magnetic
and electric fields which are parallel to each other. The path traced by the
electron would be a :

(1) straightline  (2) helix (3) parabola (4) circle

fRer sraven & U% goER DY (W R W BIST Wi € WE R Ud yeaaE faeq
&3 qUT gEDY &F TH-TIN B FAWR § | TG g IRARTT 9T 8

(1) ORI (2 gsfort - (3) Y@ (4) 9|

If the separation between two plates of a capacitor, connected to a battery is
halved, the force of attraction between them is increased by a factor of :

(1) one - (2) two (3) four (4) eight

e 7P e 4 s T wRa N S et @ g A g amh D v, @
S 99 P AN g9 T [OIF | q9 IR

(1) ™ 2 = (@) IR (4) a3

A radioactive substance X has half life twice that of the radioactive substance Y.
If the number of nuclei of the two types are N, and N, in the beginning and

they become equal after 3 half lives of X then the value of %’-‘— would be :
¥

U@ federdft wEnf X o o E TR ASAnndt wanef Y @ ot amy @ @ R
21 AT A A S ovE b qfaerend B wEm N, @ N, 81 3R X @ d o

Y @ 415 A B HEAT R 8 o &, @ Nxmmiﬂm
y

1 1 1 1
(1) 1 (2) 3 3) 3 4) 3

(11) P.T.O.
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43. The quantization of angular momentum of electron in a Bohr orbit is in

44,

45.

46.

agreement with :

(1) particle nature of electron (2) wave nature of electron

(3) particle nature of photon (4) wave nature of photon

AR B DET H FolgR D PG AT BT FaicraRo Frafelad & ey § ¢
(1) T BT FO1 WHY (2) FATE FT AT ¥

(3) BIEH BT HUT TWHY (4) BRM BT T &I

If K, wavelength of X-ray emitted by an atom of atomic number 57 is A, then
the atomic number of atom that emits K, of wavelength 4A is :

Iy 57 wRAN] HAIFG a WAY] ¥ IANT K, TEEX T aerRs A R @ 4h
qresf Y K, Sd I A YA BT YA HHIEG BN

(1) 29 (2) 58 3 19 (4) 38

Which of the following is a false statement ?

(1) p-njunction acts as a diode

(2) holes are majority carriers in n-type semiconductor

(3) resistance of a semiconductor decreses with increase of temperature
(4) silicon is a semiconductor

Frfafa 4 @ I w9 s 2 ?

(1) p-nﬁﬁsmaﬁmwm?ﬁ%

(2) nYVFR F EEE ¥ Bt W IEd B &

(3) AmH 9o R sEfureld w7 IR e W 8

(4) foferet arfarere & 2

If T is the absolute temperature, the volume thermal expansion coefficient of an
ideal gas at constant pressure is :

i T =9 auww ol 8 @ B fARRed e w angst v o1 adly sgds R
O BT B

1 1 2
(1) T T 3 ; @ T

(12)
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Two balls of same size and mass are at rest on a smooth horizontal surface. A
third ball of the same mass and size strikes them symmetrically and stops after
the impact. The coefficient of restitution between the balls would be :

TF ¥ PR 4 HE ® ) Mot U A & 9wk Rer amwer # 21 w9l
el ae oTPR & Ta - dIaT Mar S Ml ¥ 9afid ®7 | SHral 8 T TIHR
@ a5 Rer araerm ¥ o W B4 Mal F I THERF-TONS B

1 2 3
M 5 @ 3 ® 7 W1

A man stands with his hands down on his sides at the centre of a circular
horizontal platform that rotates about an axis through its centre. The kinetic
energy of this system is K. If the man stretches out his arms so that the moment
of inertia of the system is doubled then its kinetic energy would be :

TF gAOER S ewM @ F W TF A R QAT B T § A" R g9
B Jum Wewn o B W O A Y B URY AR ¥w W@ ¥ 59 e @
TS Sot K §) ofd angdt s 9l o 39 veR sar ' B e w 9sa
et QA T WA I A SHS Ay Ho e

K K
(1) 4K (2) 2K @ < @ 7
A laser beam propagates without diverging because of very high :
(1) intensity (2) monochromaticity
(3) temporal coherence (4) spatial coherence
AR YA G BT FHoRvT R $1 g0 Frfofaa a6t afden @ @ e 2
(1) (2) Tt
(3) Pifered FerAggdl (4) HAY HFATHIZAT

A tiny ball of mass 'm' is projected from the ground to have maximum range. If
the initial linear momentum of the ball is ‘p' its minimum kinetic energy would
be:

'm' HER 9l UF AT BIR M B WHH ¥ 39 YoR vt fdar wmar § 5

TP R ANTET B R ARFE W G939 P B @ T B <few s

Fal Bt
2 2 ' 2 2
P P_ P P
= @ - ® T @ o

(13} PT.0.
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51.

52.

53.

54,

If the variation of kinetic energy K with time 't' for a particle moving in a
straight line is given by K= 2¢? then the force acting on the particle :

(1) isincreasing (2) is decreasing
(3) is constant (4) first increases then decreases

o xe Y@ § TREE BT @ Wy P @ W TR ot & WM K=2t2 |
yefdia S & @ FOT W AR 9 T -

(1) Jgar R (2) Hedr S
(3) fer &M (4) TS s R wem

The frequency of a simple pendulum is ’f*. The frequency of oscillation of its
kinetic energy is :

% e As B gy f' 2| 3He Ak Sat 3 Qe o gy #

1) 4 @ @ f @ L
The Raman effect results due to the phenomenon of :

(1) absorption of light . (2) emission of light

(3) diffraction of light (4) scattering of light
H T Freieifad ge @ IROT B ¥

(1). FBTY BT G (2) WoTE B A

(3) W@ BT fAadA (4) W @ HHIH

If y=x"x """ ® then x-g% will be equal to :
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q distinct values of (cos®+isin8)?’/7 are in ;

(1) A.P. ) G.P. (3) H.P. (4) None of these
(cos® +isinB)/7 BT gyus w1 &

(1) w=R #oft § (2) onEs Aot F () e Aot W (4) T @ BE wd

|

All the values of 1° are:
1
13 o g0 ¥ :
R I €1 RPN CE 3 A N E 3
2 2 2 2
If z= Iog(x2 +y2), then x%ﬂ;% isequal to:
afe z=10g(x2 +y2), ar x%+y-§zy- RIR T
1o 1 (3) 2 4 3
(3+0)+30)2)4 isequal to:
(13“!)-1-:-}(:32)4 TR 2
(1) 16 (2) 166 . (3) 160> 4) 160°

‘The area of parallelogram having diagonals 3i + j ~2k and i —3j + 4k is equal to :

fawol 3i + j -2k 3R i —3f + 4k T FTHAR TGYA BT B TR ©
(1) 543 2) 443 @A) 343 @ 243

Eccentricity of a Hyperbola 9x2 ~16y2 =144 is equal to :
FRATTAE 9x2 ~16y° =144 T SHTT WK &

3 5 5 3
(1) 2 (2) 3 3 i 4) i

(15) P.T.O.
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61.

62.

63.

64.

65.

If vector p = xi + 3j +2k is coplanar with vectors a4 = 2i + 2j + 3k and
b = 2i + 3f + 4k, then the value of x will be :

afe WRe p = xi + 3 42k WM a =2 + 2j + 3k IR b =2 + 3j + 4k D AT & &
wae W & O x BT A B

(1) 2 (2) —2 3) 3 4 -3

1 1
The value of the [t L{ex —e J"]will be:

X—>»

X—»0

1 _1
It x{e" ~e ‘}E‘I’ﬂ'ﬁ B
1o 21 3) 2 ) 3

B[Z, %] is equal to :

B(z, %)aw%:
1 4 16 15
n = 2y — 3y — 4) —
1) > @ 5 3) 15 (4) 7
2
!:e" dx is equal to :
2
[:e"‘ dx ST A 2
(1) V= (2 = (3) n-\gi (4) %E*
If x +y + z=u, y + z = uv and z = uvw, then the value of (u'g’w isequal to:
aﬁx+y+z=u,y+z=uvaﬁ‘%z=uw,a‘rMWWW%:
Olu,v,w)

(1) o (2) u’v 3) uv? Q) u’v?
(16)
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67.

69,
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123 4

Inverse of the permutation [1 14 2

)will be:

123 4
1 3 4 2

1432y (2143 (1324 (1234
(1)(1243] ()[4321 Oliszaz Plra2s

(33

-3 5
If A:{ ) 1],then]A“l\ is equal to:

-3 5

_ -1 .
afq A-[z 1],a‘r|A | SRR T

! » -1 1 1
(1) o (2 T (3) 10 (4) 13

4 3 d2 3/2
Degree and order of the differential equation 2[—yj +4 =[—yJ

respectively are :

(1) order 2, degree 3 (2) order 1, degree 3
-(3) order 3, degree 2 (4) order 3, degree 1
PR 2, '
HTHT GHGT 2(d—yj +4=[E—32’} @ Difc & a| HAw: ¢
x X
1) o 2,953 2 el was
(3) Jifc 3, =ma2 (4) i3 a1

In nth term of a series is given to be %, then the sum of 105 terms of this

series is equal to :
aft vE A W1 ndf vE ;*;%,aww»}owmsqaﬁmmww%:

(1) 1470 2) 1320 (3) 1168 @) 1250
(17) P.1.0.
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70.

71.

72,

73.

74,

Ifa b carein A. P. as well as in G. P., then :

T g, b, c TR A0 @ WY iR SR ¥ of A

(1) a=b=c (2) azb=c (3) azb=xc 4) a=b=c¢
The curve 2=—l+lc¢::'s'81 is:
r 2 4

(1) Parabola (2) Hyperbola (3) Ellipse (4) Straight line
w21 lso s

r 2 4
(1) e (2) sfoRacy (3) dndga (4) TS W
If all the elements above and below the principal diagonal of a matrix is zero,

then the matrix is called :
(1) Triangular matrix (2) Upper triangular matrix

(3) Lower triangular matrix (4) Identity matrix

o @ gy B T et @ IR R MR 3 vl ommg o w @ dnew
HEAT €

(1) iR smege (2) v= el snegg
(3) =1 el smege (¢4) THAS ATgE

By using Binomial theorem, the cube root of 1001 at the five places of decimal
will be:

feue w1 & w@T § 1001 @1 TH IV B UMF T gE B

(1) 10.00111 (2) 10.00222 (3) 10.00121 (4) 10.00333
If a, B, y are the roots of equation x3—-7x2+5x-2=0, then the value of
1 1 1,
—t—+-—is
af  ay By
Rk wfeRr 1% -7x% +5x-2=0 P qoI FIE o, B, y ©, @ il mam
af oy Py
2
1 3 5 7
1) = 2) = 3) = 4y —
(1) 5 {2) > €)) > (4) >

(18)
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75. The distancebetweentheplané4.x—4y+22=53ndZx+4y—4z+7=0isequal

to:
TA4x—4y+22=58R x+4y-4z+7=0 T B I WK 8 :
(1) 2 (2) 4 (3) 6 (4) 8

76. A curve of nth degree has :
(1) Atleast one asymptote
(2) Atleast n asymptotes

(3) At most n asymptotes

4) -—g- real and -;— imaginary asymptote
nd BT el 9% W gar @

(1) B9 q &9 TP JF=wudit

(2) FH |V B n ITAERN
(3) IRFRF n o

@) gwﬁmwgeﬂaﬁ%ﬂamﬁ

77, Expansion of tan 10 is equal to :
tan 710 T FHR &R B

(1) )

1-" ¢, tan? @ +...... 1-"¢; tan? 6 +.......
"o tan®-" oy tan2@+....... "c,tan?0-" cytan> O +.......
(3) 3 @
=" ¢y tan” O +....... 1-" ¢y tanO+.......

78. Which of the following configuration is characteristic of group 15 (VA)
elements in the periodic table ?

1 § ¥ I I srad |IReT & &°f 15 (VA) @ ot &1 fadwar 2 7
(1) ns’npnd ) (n-1)d'ns’np?
3) nsznp3 4) nslnp?’ndll
(19) P.T.O.
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79.

80.

81.

82.

83.

84.

85.

A red coloured glass can be obtained by adding :
79 e & arer 1 @ S99 o gaar
(1) co @ CrO; () MnO, @) Cu,0

Which of the following ores does not contain Sulphur ?

(1) Galena (2) Zincblende  (3) Cinnabar (4) Bauxite
= et ¥ e T @ S 2 7
(1) o (2) T = (3) R=mer (4) ST

Which of the following does not exhibit sp>-hybridization ?
ey # 4 B sp® -dovor FFF s ® ?

(1) NHj (2) SOz~ (3) NOjz (4) POy~
The radioactive halogen is

{1) Thorium (2) Astatine (3) Radon (4) Polonium
(1) =Raw (2) TR (3) &M (4) orenfam

Which of the following does not form precipitate with AgNO;?
e &} I AgNO; & a1y ooew 78 awrar & 7

{1y HI (2) HBr (3) HC (4) HF

A substance that does nof sublime is :

(1) Napthalene (2) NH! (3) Sulphur (4) lodine
& gt R sduas a2, 5w 2

1) el 2) drR (3) TRIB ¢4) A
Sulphur molecule is :

(1) Monoatomic  (2) Diatomic (3) Pentaatomic  (4) Octatomic

(1) TwowREE () fewAe (3) TERHIF (4) ITETRATS
(20)



86.

87.

88.

89.

90.

91.

120/83/21(Set1)

The oxidation state of Oxygen is zero in :

T4 Sffaiies &1 Aiteflee Ry ¥ 2 -

(1) OF 2 O; (3) 505 4) HyO,
PVCis formed by polymerization of :

(1) Chloroethane | (2) 3-chloropropene

(3) Chloroethene (4) Chlorobenzene

T IEANHV B BN PVC & B

(1) FERTET (2) 3-FARMGH

(3) FARIGeRT (4) TR

Adipic acid is required for the preparation of :

(1) Terylene (2) Nyloné6:6 (3) Bakelite (4) Melmac
TR i A ST THEY T B forg e & - |

(1) =R (2) TUEFT 6:6  (3) TPaIsT (4) daHTE
Which of the following is not a type of Lipid ?

(1) Glycogen (2) Choiesterol (3) Lecithin -(4) Palmitic acid
=1 % § 9 @ g9 F FBR ag}'_%?

(1) AP (2) PRI (3) o= (4) e et

The number of chloride ions formed by [CoCi(H LOXNH; }4] Cl; is:
[CoCi(H,0)XNH;),] I, § a7 arer eIz oAt 2 W 2

(1 o 2 1 (3) 2 @) 3

The IUPAC name of CH3 ~CH, -C=N is:

(1) Ethylcyanide (2) Cyancethane (3) Propanenitrile (4) Propanamine
CH3-CH, -C=N @1 [UPAC =¥ § :

(1) e wETEs  (2) WAEeS (3) dvFERIRT (4) WA
(21) P.T.O. .
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92.

93.

94.

The reaction of two molecules of CH3CH,Br in presence of Na/dry ether to
form butane is known as :

(1) Wurtz reaction (2) Wurtz - Fittig reaction
(3) Fittig reaction (4) Ullmann reaction

Na/T $or o SaRafy ¥ CH,CH,Br @ & apell ot aiftfrr & o7 a0 =
ST e

(1) gt sfRfwar (2) gt - fpfe afwfhan

(3) R sfifsa (4) s AfAfs

Ethyl alcohol reacts with acetic acid in presence of H* ion to form :

(1) an alkane (2) anester (3) analdehyde (4) anamide

HY omae & SuRefy ¥ oiYrd toerefa, tRite ona @ | afiewr exe s
2

(1) 6 oA 2) TF TR (3) v® tesegs (4) TP TES
Baeyer's reagent can be used to distinguish between the pair :
(1) But-1-ene and But-2-ene

(2) Formaldehyde & Acetaldehyde

(3) Propane & Propylene

{4) Benzene & Toluene
W%ﬁﬂa_ﬁwmﬁaﬁﬁﬁﬁmaﬁmvﬁﬁ%:
(1) FE-1-39 o1 Fe-2-37

(2) wiwfeszs war (RS

(3) WS el Mfe

(4) i wen ez

(22)



95.

96.

97.

98.

12U/93/21(Setl)

Which of the following is an ortho-para directing group ?

frer % § 99 1o aE g PR 9 8 7

(1) ~CHO (2) - COOH (3) -CN (4) ~NHCOCH,4
CH; ~CO- CHj + 4[H]—2H8)/ cone HO | CH,CH,CHs + H,0
This reduction reaction named as :

(1) Wolff-Kishner (2) Bouveault - Blanc

(3) Clemmensen (4) Rosenmund

CH, ~CO—CH; + 4{H} 228 )g % HCL 11, CH,CHs + HyO
T e S BT AW R

(1) 3o - feR (2) qfdE - &fd

(3) aeTH (4) AT

Methanal and Ethanal can be distinguished by :

(1) Tollen's reagent test (2) Fehling solution test
(3) Iodoform test (4) Carbylamine test
RO TF g A TEEE A ST W) 8

(1) <o sfaat gderor | (2) wefer e wdeor |
(3) ASTHH TdwT @ (4) wfeTTAT oferor |

In the conversion CH;CH,OH-—2<2%2/12°% ,ch,cHO KoCrp07 I H2804 vy
A A
Yis:

CH,CH,OH —X220% /#2508 oy, co—XaC207 /%0,y ofeda # Y 2 :
A A

(1) CH,COOH (2) HCOOH
(3) CH3COOCOCH; (4) CH;OH

(23) P.T.O.
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99,

100.

Hinsberg's reagent is :

et arfeat &
(1) AgNO; +NH OH (2) CHI4
(3) NaNOQj; +dil HC! (4) C,Hs50,Cl

Methoxyberizene is popularly known as :

(1) Aniline (2) Anisole (3) Cumene (4) Xylene
Heffeda=i @) afeg w9 § S e #
(1) gfreds (2) T (3) T (4) ogeds

(24)



aafhaY & fag fAder

(@8 gReAT B 99T JRULYS T T TIIA F A4 IO R adl fefl/ el are-age 979 @ )

1.

2,

3.

4.

10. &7

1.

12.
13.
14,

ye gRa® e 3 10 B @ srex & 3w @ % uees § o g9 Hiee § ok A
mwaﬁélgﬁﬂmﬂﬂgﬁwmﬁwsﬂaﬁmwmaﬁﬁwﬁaﬁ'
aqt geuR @ gl Rk s aR o |

uden waw A frerer WY AT F AfRewm e @ oy B N gen v
ey ¥ A AR |

ST e & R war &) g9 7 af A sk 7 # Ry ¥ guwr govyd T8
T G| BAT ST BT @ oA BT [Har G

AT FFHAE GO TOEGA B HNE AT FAOryS w §9 @ FuiRa wm
R o

. ECTT P FEH §O ° 97 @ 9 gHAE PeiRa vt w7 ford oot v &2 ol

ﬁwm?raﬁaﬁmﬁaﬁmgﬁmwmwﬁeww
Sfaa v oY ford

. 3o Qo Mo TF W HAMAG Wedl, WEH-gRaeT wEm 7 9 e (afX o 9) wen

m—gﬁﬂmwwmaﬁ?aﬁowoamoqaﬁwaﬁuﬁﬁaﬁﬂmﬁ?ﬂﬁaﬂ
aafy & 2

. SdEe gl § o ff wRadw wa Fdws g1 wfE €9 wifed e IE TP

R GRA BT W@ A S |

. FEgRaET § ww e @ U deRes S RA W ¥ sodw gvw @ delers TR @

ford g} woevy @ gRyg T @ e RY R 39 B SUTT P AT O W
2 /@ Adat 3 sgwr 97 & mer I 24

.uﬁam%w%%ﬁmwﬁwﬁwaﬁtw%mqﬁaﬁwm

TR el U g B POl WA W 98 SR e {1 S|

¢ fF ve aiv wE g7 g vOv Iear T¢ or woar ¢ afE I fed g
&1 gV 72 37 e & o wefe 9 @ W R T Wi g9l @) @l 8 |
IR} g | I o R Ty
W eE @ PR 3w IRa® 3 (EYS @ e daen §o oo Mk wrehl gs @
warT &9 |
TR @ ST B o THo H¥o FAETT & wlen wad § W B
FOET A 29§ Tea GO WoW @ IR O O FEiY w9 e

oy # snaelf gfen ¥ s @Al @ FET B €, @ aw el e Puika
g8 &1 /P 9 B /ey
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